Commissionerate of School Education-
Government of Andhra Pradesh

Notations:

1.0ptions shown in green color and with +" icon are correct.

2.0ptions shown in red color and with # icon are incorrect.

Question Paper Name:
Subject Name:
Creation Date:
Duration :

Total Marks :

Display Marks:

Change Font Color:

Change Background Color :

Change Theme:
Help Button:

Show Reports :
Show Progress Bar :

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration:

Show Attended Group?:
Edit Attended Group?:
Break time :

Group Marks :

SectionId:

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

SGT

SGT 1st July 2025 Shift 1

SGT

2025-07-01 15:25:58

150
80
No
No
No
No
No
No
No

1
392266137
0

150

No

No

0

80

Section 1

392266722
1

Online
Mandatory
16



Number of Questions to be attempted : 16

Section Marks : 8
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266812
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226622761 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT a UNESCO World Heritage site
. Taj Mahal

2. Coringa Mangrove forests

3. Ajanta caves

4. Sundarbans National park

UNESCO (305 3780 (3830 5708

1. RIS

2. 5°80K Sroiire edien
3. BOS® Mo
4, Fé.:oeiiga:}gn) IA5S iﬁ*gb_
Options :
1. % 1
2.9 2
3.%3

4. % 4



Question Number : 2 Question Id : 39226622762 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer

a. ‘Polarization” 1s the Merriam-Webster’s word of the
year 2024

b. ‘Donald Trump’ was named Time’s person of the year
2024

c: ‘Showcase India’s handloom Heritage’ is the aim of

Viraasat Sari Festival — 2024

VB Ve HB0S0k.

a.  FoPEA e B0 WSO - ISYE) 2024 HEor
K200He&58

b.  B3) D) &F & gabb - 2024 &G (©05
foboHat.
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C. oS a8 3:5;:55 - 2024 e'g"%go IS AAD Dees
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1. a. C
. b.c
3. a, b, c
4. a, b

Options :

1. % 1

2. % 2

3.¥3

4. % 4



Question Number : 3 Question Id : 39226622763 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following with authors and their books

1, Banabhatt a. Mahaveera Charita

i1. Bhadrabahu b. Vikramankadeva Charita
i11.  Bhavabhuti ¢. Kadambari

iv.  Bhilhana d. Kalpasutra

208 HSonen T8 BN 2NN

i ereadiéy a. oW $50
i (e b. ESroETs £
1. PSP c. s*&od
v. Deoendd d. EE}J’;@F@
oo
i 1-b., 11-c¢. ii-a. iv-d
2. 1-¢, 1n-d. m-b, 1v-a
3 1-¢, 1u-d. i1-a. 1v-b
4. 1-¢, 1-b, 1mi-d 1iv-a
Options:
1. % 1
2. % 2
3.¥3

4. % 4



Question Number : 4 Question Id : 39226622764 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Regarding Rajya Sabha - Specialty of Mizoram, Nagaland.
Sikkim states 1s

1. No membership

4 Only one member

L

Chairperson belong to these states

4. Having Anglo Indian nominated members

TR 2020800 WETO, Treos, 330 T BBES
L Sdgeko BEFseo

2. o8 o DY &o&Ko

3. DB L2 ToELoH T &0&E0

4. @O 3040508 TWIBE Rvabgom SOR sokto

Options :
1. % 1
2.9¥ 2
3.%¥3
4. % 4



Question Number : 5 Question Id : 39226622765 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct pairs among the following

a. Football - Dribble
b. Cricket - Gulley
g, Basketball - Hook pass
d. Hockey - Bully
208 FAE" VTS mSoH K0P,
a. HSerS . GendS
b. &= - K9
C e - 508 >0
d 588 - 20
L4

1 a.b
2 a.b.c
3 4 bcd
4. b.c

Options :

1. % 1

2. %2

3.¥3

4. % 4



Question Number : 6 Question Id : 39226622766 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the incorrect pairs among the following

a. Grammy award - Pt. Ravi Shankar
b.  Dronacharya Award - Krishnamachari Srikanth
) Pulitzer award - Chandi Prasad Bhatt

d.  Ramon Magsaysay Award Ravish Kumar

208 88" HO5R mdod K0i508é.

2088 89 ¥oxb

a.  (rad SEAeS)

b. @'em'ﬂﬁ“tis Thet BN 8 srod
2 o
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. 998 ez - J0& B>E 585
d oSS R OT - oD HsE
1 a.b
2 b.c
o a,c.d
4 a.d

Options :

1. % 1

2.¥2

3.%3

4. % 4



Question Number : 7 Question Id : 39226622767 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Find out the correct answer related to Indian Road ways.
India has about 63.32 lakh km of road network.

a
b.  Itis the third largest network in the world.

c.  Bharatmala Pariyojana programme works for it.
d. P M Gati Shakti National Master Plan (NMP) was
launched in 2021.

S8 TrmrHo $02000) JPN HIrErNanD SN0,

2. ESETE I 63.32 0% L. © 5 56 &ob.
b. 30 ($%050S™S 35 e&DE Béi.agb_

C. PSSIree SO@rE TS0 O U SIS0,

d  d.cho. KD 3 @dH ArHb q;ia‘ (NMP) 20215

|Eodosaéodl.
1. a.c.id
2 a.b.d
3. 1. b,c.d
4, a.b.c
Options:
1.¢ 1
2. % 2
3.% 3

4. % 4



Question Number : 8 Question Id : 39226622768 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the correct answer regarding ‘Going into Mission Mode’

Statement A: This a programme related to Ministry of
Environmental climate change.

Statement B: It 1s one of the programmes under Swachh Bharat

Missiom.
1. A correct. B correct
2. A correct, B incorrect

A incorrect. B incorrect

b

4. A incorrect. B correct

¢ pafl = S o T o M 3 W WAL o
A20000R 39 0 AS IrE’ HooKOAS 308 (HIIT0ON

.

SO FDS DererSinD 80004k,
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3 A D03, BRosdn
4. A0, Bigsd
Options :
1. % 1
2. % 2
3.%3

4.9 4



Question Number : 9 Question Id : 39226622769 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following person is a high jump player who won
Paris Para Olympic Gold medal and awarded 2024
Major Dhyan Chand Khel Ratna

1. Harvinder Singh
7.3 Satyapal Singh
3 Praveen Kumar
4, Vijayan
308 08" 30T Fo° 2.00DE) RRYDSY IR, 2024 Soz8
‘:535{505 S 5E) ot FodS w0 desmthisd
1. :.’:rnéosoc‘jg ok
2. RSErS dok
3. (P Hird
4.  JmAHd
Options :
1. %1
2. %2

3.4 3
4. % 4



Question Number : 10 Question Id : 39226622770 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The first virtual learning digital studio was constructed here by
the School Education Department in our state

1. Kadapa

44 Ananthapuram
3. Visakhapatnam
4. Kurnool

3505 m@oesﬁ SO ;:5533;35 BQYoR ER0S KRG @i
3):5“5%“3,9 g¥),& SG&D&D&.

i KES

2. 25080

3. 3%‘*@3’3&:&0

4. §<‘5\JQE:~J

Options :
1. % 1
2. %2
3.%3
4.9 4



Question Number : 11 Question Id : 39226622771 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Abudabi Telugu girl who got the prestigious Sheik Jayed
Sustainability award 1s

1. Akkineni Mounika

-2

Smruthi Manthana

Yerraji Jyothi

4. Diksha Malik

BOLSE 2E @0 FP0SDIL BT W RSB

920T°E) BeKd &9;‘3:6&@.3

T
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3. chge &8
4. 8% 500F5
(%)
Options :
1.9 1
2. %2
3.%3

4. % 4



Question Number : 12 Question Id : 39226622772 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This state started Digital tree Aadhaar programme by geo
tagging to protect Chinar trees

1. Arunachal Pradesh

2. Kerala

Jammu Kashour

(b

4. Assam

D8 Be> BR0BEE A& ergAoR IH ERwd |® eob
Tdsgﬁr@ (500D "R

L. ofHhersd (90%

2. B8y
2 zao.m& 5‘“%&5
4, E@"‘JD
Options :
1. %1
2. %2
3.3

4. % 4



Question Number : 13 Question Id : 39226622773 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Bio Fest — 2025 was held at

L. Coimbatore
2 Bengaluru
3. Pune

4, Udaipur

D& DY - 2025 BSH) 3K & 2O
I 5P a5 02e8 5
2, AleheLrbiled
3. J°E3
4. &55%rs
Options :
1. %1
2.9 2

3.%3
4. % 4



Question Number : 14 Question Id : 39226622774 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This All India Radio Station to host Sarvabhasha Jateeya Kavi
Sammelanam — 2025 1s

1. Vijayawada
2, Bhopal
3. Hyderabad

4. Mumbai
DT Bk KD ¥ ¢N0 - esETe 2025 SEHED
SBIS eI Solo

L DBADTE
2. >S5
3. Eoerd
4. 008
Options :
1. % 1
2. %2
3.%3

4.4 4



Question Number : 15 Question Id : 39226622775 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Autobiography of Dr. Deepa Malik. the first Paralympic
medalist
L. The Unyielding Judge
2. Bring It on : The Incredible Story of My Life
3. The Dairy of a Young Girl
4. I Know Why the Caged Bird Sings
PSS SO Fov 20008 88 IBS ou OF 5005 e8¢
1. S 93828008 =&
Lo &2
2 \DofR 38 & 1 & 35@&€J55§£é e o B
3. &b &S daboR s
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Options:
1. % 1
2.9 2

3.%3
4. % 4



Question Number : 16 Question Id : 39226622776 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

C-17 Globemaster 1s a/an

1. Chinese Al research centre
2. Ukraine oil refinery

3. Israel agri research centre
4, American military aircraft

55-17 A5 5008 05058
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Options :
1. % 1
2. % 2
3.%3
4.¥ 4

Section 2

SectionId: 392266723
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :

- O b~ 00

Sub-Section Number :
Sub-Section Id : 392266813
Question Shuffling Allowed : Yes



Question Number : 17 Question Id : 39226622777 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The National Policy on Education that approved the 10+2+3
education system is

10 +2+3 o o)) e300 &3 Aoy Ao
1.  NCF-2005
2. NEP-2020

NPE - 1968
4. NEP - 1986

S

Options:
1. %1
2. % 2
3.3
4. % 4



Question Number : 18 Question Id : 39226622778 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Establishment of Pre-primary education for 3-6 age group
children was the recommendations of

1. Hunter commission
2. Hartog committee

Wood’s Dispatch

(sl

4. Sargent commission

_fa W T 3 o 5 I e o f == .
3-6 D0IB 0w 290 (2 @mé g)ﬁ::; QG"D&D wdired
v le AP TR

1. Sroerd hns

2. ;’soc:;ﬁ Eed
3. eéa P
4. oS KRS
Options :
1. %1
2. %2
3. %3

4.9 4



Question Number : 19 Question Id : 39226622779 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Match the following and identify the correct answer related to

Best Practices in school education
1. Mission Prerana

1. Ganita Kalika Andolana

1. Saksham

iv. Mother Tongue Based Multilingual
Educational programme (MLE)

d.

Uttar Pradesh
Odisha

Karnataka

Haryana

FTe 58" BY (LR 0020500 208 FB BEHED TP

DIGErSE0N 80306,
O o [f.}tfta

ii. Kedes 50¥ es08°S
iii. %o

v, SrERTR ST0E ATRSTALE

35‘53‘55@" 200
1. 1-a. 1-d. 1-b. 1v-c
) 1-c. 1-b, 11-a, 1v-d

1-a, 1-c. 1-d, iv-b

LS ]

4. 1-b. w-c, 1i-d. 1iv-a

Options :
1. %1
2. %2
3.3
4. % 4

a.



Question Number : 20 Question Id : 39226622780 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Expand NDEAR
NDEAR & 803508,

1. National Digital Empowerment and Assessment

2. National Digital Education Architecture

b

National Development for Education and Research

4. National Directorate of Educational Administration and
Resources
Options :
1. %1
2.¥2
3.% 3

4. % 4



Question Number : 21 Question Id : 39226622781 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This programme was conducted in areas where the female
literacy rate is lower than the national literacy rate and gender
gap 1s higher than the national average

I Success school

2, KGBVS

3. NPEGEL

4. Saakshar Bharath Mission

QO BT FE0 A BETIE TS0 508 S,
Do S350 2B Hiikw K08 NS &) (Fosed
REGON SEYEL0

1. ?é?.,njﬁ FEToen
2. KGBVS
3. NPEGEL
4. LS S AS
Options :
1. % 1
2. % 2
3.3

4. % 4



Question Number : 22 Question Id : 39226622782 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Through this Act/policy elementary education is included in
the list of fundamental rights of Indian constitution.

Bs DLO/TOD TYT oo [FEE I arES
TEgonoS R (FEWYE )0 wASS” TY)Eo 2R0B.
1. RTE - 2009

2. RTI - 2005

NPE - 1986

4. NEP - 2020

[ ]

Options :
1.9 1
2. %2
3.%3
4. % 4



Question Number : 23 Question Id : 39226622783 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This 1s NOT in the four objectives defined by UNESCO for

Lifelong Learning
1. Learning to know
2, Learning to do

fd

Learning to be
4. Learning to Assess
UNESCO 29¢5 Bﬁc‘.‘fgoé e&ﬁg&:mﬁ)é ch’ﬁﬁjoﬁ};ﬁ NRISHE
E)S""SEJGS-E 88
Cd o
L BeodfSEdd I8)FaEo
2. Dhed3 I)SEEo
3. JEKE3 3&35’%&'0
4. 5803 %0 ?3631}5"5;5630
Options :
1. % 1
2. % 2

3.%3
4.¥ 4



Question Number : 24 Question Id : 39226622784 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

As per NCFFS-2022 sequential order of the stages in ‘Gradual
release of Responsibility during designing to learning
activities are

a. You do it
b. Idoit
C. We do it

NCFFS-2022 (9580 e§ois)aies SrPoBodiini o5y
[reiged 098 & BIANDIBE'D ¥ SLB|SwO

2. Y D5d

b. I ;o
PR 5 O

C. N0 WAITE)

. hax

2. cah

3. b.c.a

4. c¢.b.a
Options:
1. % 1
2. % 2
3.¥3
4, % 4

Section 3

SectionId: 392266724
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 8

Maximum Instruction Time : 0



Sub-Section Number : 1
Sub-Section Id : 392266814
Question Shuffling Allowed : Yes

Question Number : 25 Question Id : 39226622785 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Persons with this type of imtelligence are called as ‘Picture
Smart’

1. Interpersonal Intelligence
2. Naturalistic Intelligence
2 Linguistic Intelligence

4. Spatial Intelligence
B SES (g SOAS T0 DSIL)oen’ €05,

L 5508 Sdss g
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=
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Options :
1. % 1
2. % 2
3.% 3

4.9 4



Question Number : 26 Question Id : 39226622786 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

At the age of 6 weeks, a baby smiles at those who meet its
needs. This 1s the indication of

1. Emotional Development

2. Social Development

T4l

Language Development

4. Moral Development
6 To°© mdi:mﬁs B3 85 SV @6Qm63} S
B(E0 DB Bz IS D08,
1 éﬁjﬁ QS0
2 FPOE AT
3 &Il a)S™R0
4 SBE IS0
Options :
1. % 1
2.9 2
3. % 3

4. % 4



Question Number : 27 Question Id : 39226622787 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘A process by which a response comes to be elicited by a
stimulus, object or situation other than that to which it is the
natural response’ is called as

1. Conditioning
2 Motivation

3. Learning

4, Remforcement

25 &QOSH, S Bo 98283 Lo oo BHenHoe

2.5 HarSdgo 50 (HSH)0ETD T’ o (D3

e 0L,
1 N20PS0
2 [fatira
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Options :
1.1
2. % 2
3.%3

4. % 4



Question Number : 28 Question Id : 39226622788 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A boy passed 10™ class examinations. In Intermediate he has
to choose either Bi.P.C or M.P.C But he likes both of them.
The conflict faced by him here is

1 Approach - Avoidance
2. Avoidance - Avoidance
3 Approach - Approach
4. Dual Approach - Avoidance
2.5 DO DEIGENG S0Ken FH ecirgd. 3008)4dHES”
Bi.P.C 579, M.P.C 570 J0ohEad). 5o s e Boksr
ajﬁﬁa. 986 OBWD Qd}ﬁ“bﬁ F@Dmgﬁ
1. GOND - DOIY
2 20T - DI
3. G - G
4 ﬁnsé‘;'}?‘i;‘:l:: - 0058
Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 29 Question Id : 39226622789 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The objective behind the inclusion of lessons on biographies
and life incidents of prominent people m textbooks is to
promote this learning

1.  Discovery Learning

2. Insightful Learning

3. Social imitation Learning
4. Conditioned Learning

(0P e 2IE SHBeD, 2IS VOPLTOD FEYRSOS’
FEe0 BY)EO IWE &) OX0 - B1 BgOTY) [FSyrosEo

1. &33)?.‘3{)_6553 95:2;55}650

2. @D@dﬁﬁq}%} Eﬂejgm‘io

5 oY eo¥ses @eﬁgﬁﬁo
4. D208 &aeﬁgﬁﬁo
Options :
1. % 1
2. % 2
3.¥3

4. % 4



Question Number : 30 Question Id : 39226622790 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

While reading newspaper. some may read political news first.
while the other may read sports news or editorial, this shows
their

1. Interest

2. Attention

3. Aptitude

4. Attitude

TS| @50 IOILPE 505 Incerr oomddh TYen
SEOPED, §0G & FTYew, 050N BorESabo
SEPE . 30 HAIV $0:008.

1, dEHD

2 WIT00
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4.  Ipd
Options :

1.9 1

2. %2

3.%3

4. % 4



Question Number : 31 Question Id : 39226622791 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
One of the following 18 NOT related to the Primary Mental
Ability proposed by Louis Thurston
1. Verbal Ability
2. Memory
3. Numerical Ability
4. Social Relationships
3 300 IS oo FEIS PAFQODT (FEAWY S
.i‘m:lagso 208
L AL é";:bgéo
2. S @@
3. ﬁ(}a}'f’é @ﬂ:j:géo
4. FOWE DooTren
Options :
1. % 1
2. %2

3.%¥3
4.4 4



Question Number : 32 Question Id : 39226622792 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mode =
1 QS - Ql
' 2
5 SIX-M)
N

(3 x Median) — (2 x Arithmetic mean)

Tad

4, Highest score — lowest score
TR S0 =
1. Q_‘J. i Ql

2

X-M
3 2 )

J.-I."MT

3. (3 x ;5355?{9‘_50) —(2 x ©90¥ X ’55:500)

4. ?i&?;q D05 — ﬁﬁjﬁ'&l B[SO

Options :
1. % 1
2. % 2
3.3
4. % 4



Question Number : 33 Question Id : 39226622793 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Match the following and identify the correct answer
1. Word Association Tests a. Herman Rorschach

i1. The Children Apperception Tests b. Hothaway. Mc Kinley

iit. The Minnesota Multiphasic
Personality Inventory c. Kent, Rosanoff

1v. Ink blot test d. L. Bellack. S.S. Bellack
500 8 BEBEY JJI VI 800G

. 9 0ORY DOFen a. ﬂmaés 555
i & N2 = % = &
it & &LEE E&@Jgn}?%s 8 b. 55653, o8 ?*5},

e i — e e E
ifi. &5 QF)RPes c.aag):w..,

‘;’atﬁn)a@é?} 3030L0 ¢c. 308, 5%RaH
iv. dovHsse HOX% d. L.Berk, S.S. Bers
L= ] o]
1 1-b. 11-d. m-a. 1v-c
2. 1-a, 1-b, 1-d, iv-c
3 1-c. 1-d. 1-b. 1v-a
4, 1-d. 1-b. m-c. 1v-a
Options :
1. % 1
2. %2
3.¥3

4. % 4



Question Number : 34 Question Id : 39226622794 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

To hold an object, the child uses his hands first then he can
manage to hold with his fingers. The principle of development

here 1s

1. Development proceeds from general to specific.
z Development is an interactive action.

A, Different developments are interdependent.

4, Development is predictable.

DYTE 2.8 TP DREIEI it DEOD
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Options :
1.9 1
2. %2
3.%3
4, % 4



Question Number : 35 Question Id : 39226622795 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The test that 1s widely used in education and professional
guidance

i Tweezer Dexterity Test

2. Diftferential Aptitude Test

3. Feature Profile Test

4. The Pintner — Patterson Scale

Aoy TEGRY srPEtEesod” Jo) I 6 90y

L (@500 Sidesy 90K
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Options :
1. % 1
2.¥ 2
3. %3

4. % 4



Question Number : 36 Question Id : 39226622796 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Collaborative and cooperative learnings aspects are related to
this theory

1. Insightful Learning theory

2, Trial and Error Learning theory

fd

Bruner’s theory of Instruction
4. Socio Cultural theory
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1. % 1
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Question Number : 37 Question Id : 39226622797 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT an objective of Inclusive

Education

1. Providing equal access to education for all children.

2. Providing education to the children with disabilities.

3. Providing education to the children of backward
classes.

4. Segregating students with disabilities and provide

special education.
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Question Number : 38 Question Id : 39226622798 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Mental processes like Identification and Internalization are
observed in this stage of Psycho Sexual Development.
1. Anal Stage
2. Phallic Stage

Tad

Latency Stage

4. Genital Stage
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Options :
1. % 1
2. %2
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Question Number : 39 Question Id : 39226622799 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The characteristic feature of intrinsically motivated children
1. They enjoy doing the work.

2. They do the work to get rewards.

[N

They do the work to get appreciation.
4. They don’t show interest to do the work.
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Options :

1.¥1

2. %2

3.%¥3

4. % 4



Question Number : 40 Question Id : 39226622800 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding books and authors

i.  The Work of Digestive Glands a.

b.

ii. Art of Thought

iii. Frames of Mind - The Theory of  c.
Multiple Intelligence

1v. The Process of Education

d.

Graham Wallas
Bruner

Ivan Pavlov

Howard Gardner
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Options :
1. %1
2. % 2
3.%3
4. ¥ 4

Section Id :
Section Number:
Section type :

1i-c,
iii-a,
1i-d.

111-d.

Mandatory or Optional :

1v-b
1v-d
1v-b

1v-b

a.

b.
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Number of Questions : 24

Number of Questions to be attempted : 24

Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266815
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 39226622801 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

308 JEFT O KPS (K0S’ exod)od.

o, IWy S SEYT
3. L_me‘é;ﬁééiﬁ:{] mE 2502080500 B
3 BIESI0BS BErE HEomy
B St OBRSE SreSgcoen
g @, 3, &, 83
2. 3 @, &, &2
3. 3 83, @, 53
4, es, o, 3, &3
Options :
1. % 1
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Question Number : 42 Question Id : 39226622802 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
OE SIS 3&6“53@535
Semd 3pler - 509 U‘Sﬁdijg”
@Ot B wRIH &B80D RO T°HT T

1; 2N ST e &93‘35‘*9@
2 o0CT0 mwajm;@
% ea¢oa) etaTreF

4 —

o a =5 R 9
QQ}E}@E@J D05 5YAT(Q

Options :
1. % 1
2. % 2
3.3
4. % 4



Question Number : 43 Question Id : 39226622803 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1
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Question Number : 44 Question Id : 39226622804 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.9 1
2. % 2
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4, % 4

Question Number : 45 Question Id : 39226622805 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1
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Question Number : 46 Question Id : 39226622806 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
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Question Number : 47 Question Id : 39226622807 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.9 2
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Question Number : 48 Question Id : 39226622808 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 49 Question Id : 39226622809 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. %1

2.9 2

3.%3

4, % 4

Question Number : 50 Question Id : 39226622810 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
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Question Number : 51 Question Id : 39226622811 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2. % 2

3.3
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Question Number : 52 Question Id : 39226622812 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1

2. %2
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Question Number : 53 Question Id : 39226622813 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.¥ 2
3.%3
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Question Number : 54 Question Id : 39226622814 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 55 Question Id : 39226622815 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 56 Question Id : 39226622816 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. %1

2. %2

3.%3

4.9 4

Sub-Section Number : 2
Sub-Section Id : 392266816
Question Shuffling Allowed : Yes

Question Number : 57 Question Id : 39226622817 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 58 Question Id : 39226622818 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 59 Question Id : 39226622819 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 60 Question Id : 39226622820 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 61 Question Id : 39226622821 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 62 Question Id : 39226622822 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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1. % 1
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Question Number : 63 Question Id : 39226622823 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 64 Question Id : 39226622824 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options:

1. %1
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Section 5

Section Id : 392266726
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24

Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266817

Question Shuffling Allowed : Yes



Question Number : 65 Question Id : 39226622825 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

What an incredible achievement!
Choose the declarative form of the above given sentence
L. Achieving incredible!
2. How incredible 1s the achievement!
3. The achieving, what an incredible one
4. The achievement is incredible.
Options :
1. % 1
2. %2

3.%¥3
4.9 4

Question Number : 66 Question Id : 39226622826 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He has finished his homework.

Choose the negative question form of the sentence given above

1. Does he not finished his homework?
2. Did he not finish his homework?
3. Does he not finish his homework?
4. Has he not fimished his homework?
Options :
1. % 1
2. %)
3. %3

4.9 4



Question Number : 67 Question Id : 39226622827 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the adjective that cannot be used mn superlative degree.
L broad

2. late

fat

b

4, unique

Options :
1. %1
2. % 2
3.%3
4. 4

Question Number : 68 Question Id : 39226622828 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
I saw myself in the mirror.

In the sentence above, ‘myself” is:

L. a demonstrative pronoun
2. an interrtogative pronoun
3 a reflexive pronoun
4. an adverb

Options :

1. % 1

2. %2

3.3

4. % 4



Question Number : 69 Question Id : 39226622829 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Would you like to have some coffee? I (make) some.
Choose the option that fits the blank.

1. do not made
2. has made
3. maked
4, have just made
Options :
1. % 1
2. %2
3. %3
4. 4

Question Number : 70 Question Id : 39226622830 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A: Why are all these dogs wearing harness?
B: They as guide dogs for the blind.

Choose the option that fits the blank.

L. are being trained
2 are been trained
3. will be train
4, have train
Options :
1.9 1
2. %)
3. %3

4. % 4



Question Number : 71 Question Id : 39226622831 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

With a fear heights. she always tries to keep away
tall building and structures.

Choose the correct set of prepositions that fit the respective
blanks.

1. of. from

2. for, of

3. from. with
4. to. at

Options:
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 72 Question Id : 39226622832 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

While exploring the forest. they kept a lookout any signs
__wild life or potential dangers.

Choose the correct set of prepositions that fit the respective

blanks
1. for. of
.4 to. for
3. of. for
4. on. to

Options :

1.9 1

2. % )

3. %3

4. % 4



Question Number : 73 Question Id : 39226622833 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the penta syllabic word from the following.
i saving

2 discrimination

o catchment

4, flowering

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 74 Question Id : 39226622834 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following is NOT a Monosyllabic word.

1. Apple
2. For
3. With
4. In
Options :
1.1
2. %2
3.%3

4. % 4



Question Number : 75 Question Id : 39226622835 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

You will get shock if you touch live wire with that
screwdriver.
Choose the set of articles that fit the blanks in the sentence
above.
1. an. an
.8 ;%
3 the. the
4. a. an
Options:
1. % 1
2.2
3. %3
4. % 4

Question Number : 76 Question Id : 39226622836 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[ don’t know are asking.

Choose the option that fits the blank.

L. what price the owners
2. what a price the owners
3. what price owners
4. what the price owners
Options:
1.941
2. % 2
3.%3

4. % 4



Question Number : 77 Question Id : 39226622837 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“How I taught my grandmother to read and other stories has
experiences and anecdotes of this author is

1. Dr. APJ Abdul Kalam
2. Sudha Murthy
Jawaharlal Nehru

4. R.K. Narayan

Td

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 78 Question Id : 39226622838 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
*A Short Monsoon Diary” is written by
1. Ruskin Bond

Rabindranath Tagore

TS Eliot

4, Gabriel Okara

-2

LS |

Options:
1.9 1
2. %2
3.%3
4, % 4



Question Number : 79 Question Id : 39226622839 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the main purpose of writing a precis
1. to criticize the original text

2. to paraphrase the original text

fd

to condense and summarise the main points of the
original text

4. to expand upon the 1deas presented in the original text

Options :
1. %1
2. % 2
3.3
4, % 4

Question Number : 80 Question Id : 39226622840 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Note making does not involve one of the following

L. Reviewing
2. Synthesizing
3. Creating notes
4. Interpolations
Options :
1. %1
2. % 2
3.%3
4. 4
Sub-Section Number : 2
Sub-Section Id : 392266818

Question Shuffling Allowed : Yes



Question Number : 81 Question Id : 39226622841 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct technique for developing listening skills :
L. Avoiding all spoken communication

2 Engaging solely in written exercises

T4l

Listening to news and weather forecasts

4. Focusing on reading skills

Options :
1. %1
2. % 2
3.¥3
4, % 4

Question Number : 82 Question Id : 39226622842 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify which is NOT an activity to develop reading skills :

L Note-making
2. Skimming and Scanning

3. Note-taking
4. Non-verbal reading

Options:
1. %1
2. %2
3.%3
4, 4



Question Number : 83 Question Id : 39226622843 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following is not an objective of teaching English at

primary level :
1. to make learning an enjoyable activity
2. to help leamers recite thymes and poems
3. to familiarize pupils with spoken and written forms of
English
4. to encourage children to go to foreign country
Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 84 Question Id : 39226622844 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the right pair.

I, Approach - Implementation

12

Method - Axiomatic

LS

Technique - Implementation

4. Technique — Axiomatic

Options :
1. %1
2. % 2
3.¥3
4, % 4



Question Number : 85 Question Id : 39226622845 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following is not a characteristic of a good TLM.

1. Relevance and appropriateness

2

Low cost. no cost

(8]

Easily available

4. Expensive and extravagant

Options :
1. %1
2. % 2
3.%3
4. 4

Question Number : 86 Question Id : 39226622846 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to NCF 2005. curriculum should :

i. not confine to the textbook
2. confine to the interests of teachers
3. confine to the habits of students
4, confine to the entertainment programes
Options:
1.4 1
2. %2
3. %3

4. % 4



Question Number : 87 Question Id : 39226622847 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Dr. West’s new Method 1s knows as :
1. Bilingual Method
2. Reading Method
% Prinicple Method
4, Graded Method

Options :
1. %1
2.¥ 2
3.%3
4, % 4

Question Number : 88 Question Id : 39226622848 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1+1 ‘means :

I. International oneness

-2

India is one

(d

India to one more country

4, Input which 1s one step beyond learners
Options:
1. % 1
2. % 2
3.%3
4.9 4

Section 6

Section Id : 392266727
Section Number : 6
Section type: Online

Mandatory or Optional : Mandatory



Number of Questions : 24

Number of Questions to be attempted : 24

Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266819
Question Shuffling Allowed : Yes

Question Number : 89 Question Id : 39226622849 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Simplify —+ ———

3 138 3 I
—+ - 35 ¥3edy¥BosSod
4 253 8
1234
L
2024
5 2345
' 2024
2023
3.
2024
2025
4.
2024
Options :
1. =1
2. % 2
3.9 3

4. % 4



Question Number : 90 Question Id : 39226622850 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

413824 — 576 + 3f512 =
1. 8
24

-2

fad
b
|

4.

L
(0

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 91 Question Id : 39226622851 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In a school. out of 1292 students. 703 are girls. The ratio of
number of boys to numbers of girls is
2.8 FET0S 1292 908 Ao’ 703 50 wrdsen.

©00N ey ‘ﬁoa&s?—.‘b, erd¥e ‘:ﬁogng-i:a e R);’:B@D

1. 31:68
2. 200 68
3 Y] |
4, 3137

Options :

1. %1

2. %2

3.% 3

4. ¥ 4



Question Number : 92 Question Id : 39226622852 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The selling price of an article including 8% tax is ¥ 3240. The
price of the article before tax is
8% S39)&" 50D 2.5 TP 0TI T 3240. DI Kb

J00EN I FT

1. < 2400
2. < 2800
3. < 2900
4. < 3000

Options :

1. % 1

2. %2

3.%¥3

4. ¥ 4



Question Number : 93 Question Id : 39226622853 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The quadrilateral formed by joining the midpoints of sides of a
quadrilateral is always a

L. Trapezium

2. Parallelogram
3 Rectangle

4. Square

iﬁﬁatﬁaa)a AL oﬁJf..JS DOEHOD EenHdir Adeds
g P
ﬂé;tﬁaa)ao Q%@m 2.5
L P02 iﬂe‘.&)tiaamo
2. DAT0BY ﬁﬁa&aﬁo
3. O SR
ol

4. aSlefisle

Options :

1. % 1

2.9 2

3. % 3
4. % 4



Question Number : 94 Question Id : 39226622854 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In A4BC . AD is the median and G i1s the centroid.

If AG=12.5 cm. Then AD = (in cm)

AABCS’, AD :gghes Bp $08cn G ratbeSolEso.
AG =125 0.0, wons AD =(0.5. ©8%)

1. 23
2. 18.75
3. 10
4. 6.25
Options :
1. % 1
2.¥ 2
3.%3

4. % 4



Question Number : 95 Question Id : 39226622855 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Assertion (A) : 2024+=0=1=0+2024
Reason (R) :  Division by zero 1s not defined

1. Both Assertion and Reason are correct. Reason 1s the
correct explanation of Assertion

2. Both Assertion and Reason are correct. Reason is not
the correct explanation of Assertion

Assertion 1s correct but Reason is incorrect

Tad

4. Assertion 1s mcorrect but Reason 1s correct
BsSso Ar 2024+0=1=0+2024
J=8e3 R D) (0)&° 2RS8Es50 ﬁ%&oija&ﬁi}.
L (35550 & ISes DOEr HEG. SE(HHBI0H
q&égm&;‘:ﬁ Ax8es VP,
2. (35U50 & 58ed BoEr DS, SE(DHBTOH
q%a&&i A5Tes VIO 7.
3. |DSET0 BEEDH T ISYer RSSO,
4. |DIST0 DS 57 ISTes o $PIO.
Options :
1. %1
2. % 2

3. % 3
4.9 4



Question Number : 96 Question Id : 39226622856 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following shapes with their number of symmetric
axes.

A.  Parallelogram 1. 1
B.  Isosceles triangle i1, 2
C. Rhombus . 0

v

2080 es5PTro 0 %“?{‘.}mg;ﬁmm ﬁoa:sﬁ 23e8 3 80050

. Na3r0ess ﬁe:&:d:ﬁ}zso 1. 1
B. mm%wm (Do 1. 2
C s ﬁ'e:éac‘.‘szzso 111. 0

L. A-1B-ii,C-1i
A-1,B-iii, C-ii
A-1m,B-1,C-1
4. A-1,B-1,C-1i

b

Tad

Options:
1. % 1
2. %2
3.3
4. % 4



Question Number : 97 Question Id : 39226622857 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
0.25(2x=4)= 0.05(2x +3) then the value of x 15

0.25(2x—4)=0.05(2x+ 3) @c0nd x D—;:.JJEEJ_ 203

113
i Sy
40
21
2. s
8
. 19
3. e
8
23
4,
8
Options :
1. % 1
2. % 2
3.%3

4. ¥ 4



Question Number : 98 Question Id : 39226622858 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The expansion form in powers of a number is
§x10°+6x10°+4x10° +2x 1. Then the number is

2.5 Hopg Book), I8 JYYer Erido 8x10°+6x10°+4x10° +2x1

R
Qo0 @O%JS

1. 860402
2. 806042
4 864002
4. 806402

Options :

1. %1

2. % 2

3.% 3

4. ¥ 4

Question Number : 99 Question Id : 39226622859 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the factors in the factorization of 6x>+x—12 15

6x° 4 x—12 Book),. SEET0X NS mSS® e.¥ T Ee0X0

i (2x—3)
2. (3x+2)
3 (3x—4)
4. (4x—3)

Options :

1. %1

2. % 2

3.¥ 3

4. % 4



Question Number : 100 Question Id : 39226622860 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

(ab+ bc)* = 2ab’c =

| & E}J(c": -

o
[ )

d
el
(=)
— p— —
o
[E=]
r“:lld
o e S’ o

Options :
1.%1
2. % 2
3.¥3
4, % 4

Question Number : 101 Question Id : 39226622861 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If the mean of 26, 28, 25. x. 2415 27 then x =

26, 28, 25, x, 24 © [¥ew 27. ®00T X =

1. 23
2 30
3 32
4. 34
Options :
1. %1
2. %2
3.3

4. % 4



Question Number : 102 Question Id : 39226622862 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A juice bottle contains 2.2 / of juice. The number of 200 m/
glasses needed to pour it completely

2.8 BHBOO 53-8 2.2 8. 8%0 208, & 53 200 2.8,

BOBTEION KO Y z;ma:esﬁ D0HI82)?

¥ 11
2 10
3 12
4. 110
Options :
1.4 1
2. % 2
3.%3

4. % 4



Question Number : 103 Question Id : 39226622863 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

AA4BC is an equilateral triangle, where AB = 10 cm then the
ratio of altitude AD and BD is

A4BC 2% $350250|@2Hz0, AB =10 20.20. @00 &3)8
AD %005 BD & d)8

1. 243

4 J3:2

3.0 143

4 3:1

Options :
1. % 1
2. % 2
3.%3
4. ¥ 4



Question Number : 104 Question Id : 39226622864 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A road roller takes 500 complete revolutions to level a road.
The base radius of roller 1s 2.1 m and length 3 m then the area
of the road in m’.

2.8 5565 S¢om Babmd3 ol o8 5°E6%E 500 3
[oeen Bahsed &od. e §°& Sob ook, &l J“Sfﬁ"go
2.1 . 06w PEY 3 . ©oNT & 5 FFOP B.b. ©F

1 18900
= 19800
3. 17900
4. 18800
Options :
1. %1
2.9 2
3.%3
4, % 4
Sub-Section Number : 2
Sub-Section Id : 392266820

Question Shuffling Allowed : Yes



Question Number : 105 Question Id : 39226622865 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The following 1s NOT related to the nature of mathematics

|8 Aesthetic

2 Verifies
;& Follows specific order
4. Does not follow correspondence

Aeaeh "ﬁﬁ&ﬂﬁ%% B0O0S0BY) ©OoTFEw

1. ﬁ*odtﬁs&ﬁoﬁﬁoé&
- o N
ps “ﬁ@@ﬁm?ﬁﬂmd
W | T e T e AT, L, £
: \
3 gjgﬁbﬂwﬁ o 5 _E':-"..-.-
4 9050068050 AP0
Options :
1. % 1
2. % 2
3. % 3

4.9 4



Question Number : 106 Question Id : 39226622866 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The method of Inversion was explained by

1. Aryabhatta

2. Bhaskaracharya
3. Brahmagupta
4, Varahamihira

gaesﬁamg“@a D38BT
1. &55525%

2 e,wzﬁzrma'ﬂdg
3. (@wryin

4 Nlopo A bHtet

Options :
1.9 1
2. % 2
3.%3
4, % 4



Question Number : 107 Question Id : 39226622867 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The expected outcomes of Mathematics teaching are called

1. Values

2. Aims

+ Skills

4, Specifications

D PO YY) B0 AAS FTEITRr TG JT° WOLTE0

1. eV T
.2 G0 FodlIEW
[ =]
3 ©. 5352.3.3.:@3
4 conjga:_gfﬁfaw
Options :
1. % 1
2.9 2
3. %3

4. % 4



Question Number : 108 Question Id : 39226622868 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The specification “Estimates’ belongs to this objective
L. Skall
2. Application

LS

Understanding
4. Knowledge

‘0 TR0 @550 *ﬁﬁéztim X3 agé;mm.m o ATNTA)

i E@ﬁgm
2, 2 GBI S00
3. [EIRTS L]
4. 2T 00 a0k
=
Options :
1. %1
2. % 2
3.3

4. % 4



Question Number : 109 Question Id : 39226622869 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The mathematician who considered ‘preparatory values’ as
one of the Educational values 1s

1. Young

2. Breslich

Tad

Schorling
4, Munnik

£

DEHOT Denon’ Ty IS HBAR30DS K3ST(HIE

1. oWioh
D
2. B
3. ﬁl"b_aoﬁ
&
4, ;:’;:J&'JQE
Options :
1. %1
2. % 2
3.%3

4.9 4



Question Number : 110 Question Id : 39226622870 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A mathematician with an honor “Father of Geometry’ is
E, Pythagoras

2. Euclid

[N ]

Georg Cantor
4. Fermat
T8 &f T TE0SES K3STESE

1. RERED

2. a2
]
3. @rgscotb
4. 'Ebcr“&eg
Options :
1. %1
2.¥ 2
3.%3

4. % 4



Question Number : 111 Question Id : 39226622871 Question Type
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Problem solving methods from the following

a. Method of analogies
b. Method of dependencies
o Graphic method

308 AS” HIodrg HOIYY DFoen
a. ﬁjﬁﬁiﬂ)aﬂga el
b. esordde ‘5’&%&@

c. D DESe D&Y
&

1. a
2. a. C
3. . ¢
4. b.c
Options :
1. % 1
2. %)
3.+ 3

4. % 4

: MCQ Option Shuffling : No



Question Number : 112 Question Id : 39226622872 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Telling of prime numbers by using sieve of Eratosthenes 1s a/an

1. Written test
2. Oral test
Project work
4. Portfolio
BSOS

L ]

o

S

1. ores

5
[}

Options :
1.%1
2.¥ 2
3.%3
4. % 4

Section Id :

Section Number :
Section type:
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

BBE STTOT DTS ‘;30@5@: Eﬂaajoi:ﬁﬁ;o @5050 .Y

Section 7
392266728
7
Online
Mandatory
24
24
12
0
1
392266821
Yes



Question Number : 113 Question Id : 39226622873 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The reason for “Marble Cancer’ 1s

1. Greenhouse effect
2. Carbon dioxide
3. Ozone depletion

4. Acid rain
';asﬂtﬁae)g 5“555“]5’5 5830
L ASETS 2§

2. SYSE eE)E
3. L8 e
4. e3: S50
7 ol
Options :
1. % 1
2. %2
3.%3

4.9 4



Question Number : 114 Question Id : 39226622874 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Correct sequence of the words that aptly describe the
following animals

Flying squirrel. Wild buffalo. Dinosaur
L Endangered species. endemic species. extinct species
2. Extinct species. endemic species, endangered species

Endemic species, endangered species, extinct species

[ ]

4. Endemic species, extinct species, endangered species
300 =OLIPO KHB0D VB JSB0B BT [FJS HEH
IAD &0, VEIRB, o5 2 (ES°5)

1. &aov:éaof}ﬁ%:éa;a o), JOEE 20N, 080D =N

2] ©03800N =8, JOEWE o, @oé’aoﬁjﬁﬁe‘é\:@ 2o
3. DOGENE od, aoéﬁo&ijﬁ@:&o@ 8, 90000S B
4. Q0EWE 20N, ©0esdoNS 2, @o@aoﬁ}ﬁﬁ@ﬁg 23

Options :

1. % 1

2. % 2

3.¢3

4. % 4



Question Number : 115 Question Id : 39226622875 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct sequence regarding air flow m the
respiratory system

1. Nostrils — Pharynx — Bronchioles — Alveolus —
Bronchi

-2

Bronchi — Nostril — Bronchioles — Pharynx —
Alveolus

L

Pharynx — Bronchi — Nostril —  Alveolus —
Bronchioles

4, Nostril — Pharynx — Bronchi — Bronchiole —
Alveolus

ﬁﬁﬁéﬁ‘géﬁ TN (RTINS D020HO0W JOGS 0
1 m?os*tﬁo@m — (0 —}%':S‘éaﬁ@t-fau —
FTS0EERS o FHT Y0
2 @Sxﬁmeﬁo 3 m?@:sﬁfﬁo@io —>i‘3‘:‘ém@§m —>
O — TS IR

3. 0 — FLHIO — TH5EO(F0 —> TABEHAED
—> i"s‘{}mﬂﬁm
4, m?os*tﬁo@o — (R — -33&5“@’0 — e:s‘n’:m@ﬁm
- S50 ERED
Options :
1. % 1
2. %2
3. %3

4.9 4



Question Number : 116 Question Id : 39226622876 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Correct statement about veins
1. Veins have thick walls.
2 Valves are absent.

They supply blood from body parts to heart.

Tad

el

Pulmonary vein carry deoxygenated blood.
2T HOoOROY BOETOT KGO
; DB HOSF0N AEen ¥OR &otrow.

ETreren &0&a).

—

2.
3. 3 ITR) $0%erre o0& MOGKH BIHTT BY®.
4. DYVVES” exmd Bre YKo (HNWR08.

Options :
1. % 1
2. %2
3.3
4. % 4



Question Number : 117 Question Id : 39226622877 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following

A.  Cerebrum L
B. Diencephalon II.
C. Cerebellum L.

D. Medulla oblongata  IV.
208 J°I WBHTWPO&

Posture and equilibrium
Vasomotor and Vomiting
Thinking and Memory

Anger and Pain

! = - = 5 e e o ]
A. mﬂ%o 1. e;:am?_ &0G g@ Lla e s b)) m&@g@
B. 535#.50 II. 85350 558650 Srodhen

l: —
C. edomdy0 IIL esS S5en o085 =Hsren

- =
D. Sepsopo IV %0 5H8cs» 2

3.
4.

Options :
1.1
2. % 2
3.%3
4, % 4

A-II.B-IV.C-1.D-II
A-IV.B-LC-III.D-II
A-IMI.B-IV.C-II.D-1I
A-IV.B-III.C-1.D-1II



Question Number : 118 Question Id : 39226622878 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The number of the piercing and tearing teeth on the upper jaw
of an adult man.

Fesrs9IS” pESES” Ko Kd), VB Sosre Hops
L1
2.

.
s’ e -2

4.

Options :
1. %1
2.9 2
3.%3
4, % 4



Question Number : 119 Question Id : 39226622879 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The “Suicidal bags’ of a cell are

1. Mitochondria

1o

Ribosomes

Golgi apparatus

r

4. Lysosomes
K890 Soo¥), aﬁm:.uf} 3‘&‘0@ Vowoew’
1.  &Sso|dcse
2. DI FDen
w, b L9
3. mORosR0
4. BIFow
Options :
1. % 1
2. %2
3. % 3

4.9 4



Question Number : 120 Question Id : 39226622880 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Find the mismatched pair
1. Hinge joint - Knee
2. Fixed joint - Elbow

Pivotal joint - Neck

(%]

4. Ball and Socket joint - Pelvis
DO WL MBoTodk.

1L SoEdn0M8 2en - Srsren
2 50 Sen - SeBow
3. SoRSY Sew - Do
4. 202 den - XB5005H0
Options :
1. %1
2.9 2
3. %3

4. % 4



Question Number : 121 Question Id : 39226622881 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the organisms that have gills
A, Whale
B Dolphin
& Octopus
D Squid

SwBjen Ko Bhod HYoBosk

A 2 FbleTalSTe]
B. c.:ﬁef}q)g
' &35’3‘&'}5
D. ?0&55
1. A.B
Z; . B
3. B.C
4. AD

Options:

1. %1

2.9 2

3.% 3

4. % 4



Question Number : 122 Question Id : 39226622882 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the distance - time graph indicates a straight line that passes
through origin then the object i1s moving with

1. Same speed

2. Variable speed

b

Same velocity

4, Variable velocity

&80 - 5Pe0 (7R e HoEdY HoE 33{3 2.5 DETTPD
BrDoDT, & S50 OIS’ (P30

L 0% S&8°

3 S EHET) SES°

3 0950 DRoS®
4, ;asndae:&s@ SKos®
Options :
1.4 1
2. % 2
3. % 3

4. % 4



Question Number : 123 Question Id : 39226622883 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This is NOT characteristic of chromium
I Chromium has a shiny appearance
2 Chromium does not corrode

Chromium is less expensive

[N

4. Chromium resists scratches

30 5o $022080DS St et ioglat

1. (5o (H5FS08 080
2. (E°cho K653 K05t
3. (E'cdHo S%0)5 8PS
4.  (B°wcHo Adosd A58
Options :
1. %1
2.% 2
3.3

4. % 4



Question Number : 124 Question Id : 39226622884 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s very useful to take out an iron key that has fallen in a
well

1. Torch light
2. Iron nail

Piece of wood

fid

4. Magnet
S’ HES N T FR) EHLY BAERI 38 e
G@riHGIE08
L &§BS
2. FoNDH
3. BE) 205,
4, OO 080

Options :

1. % 1

2. % 2

3. % 3

4.9 4



Question Number : 125 Question Id : 39226622885 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct statement/s

X:  Sliding friction is greater than static friction
Y:  Sliding friction and static friction both are equal
7 Sliding friction is lesser than the static friction

DOToT 574w / FTjo HB0B0k.

23050050 ?;)Jgfa, E@ :;’:L.':Mh X083 ;Jg:}b_aa

i 23800 Foles, E@E ?.ﬁstiz'a VO DaIT°50

&

Z: 28 $o8e RBE Mol K08 S S
1. 4
2. X.Y
3. b P £
4. ¥ . Z
Options :
1.¥1
2. %2
3.%3

4. % 4



Question Number : 126 Question Id : 39226622886 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

To limit noise pollution

a.

53

Silencing devices must be installed to the transport
vehicles and air crafts

Noise producing industries should be near the
residential areas.

Trees must be planted along roads and around buildings

QSK) Taui‘f;?%) QA0 @0whenH

a.

[ S I

2

4.

bR F0BROW, ETer THTDH PBN)C0M
DRoTed.

B0 Sreodgo DAY BB(Fhe AT (oSO
SR8 &ozd

&4

A
& Eror0d qliipRer FiTreH Seogyer Terd.

Options :

1. % 1
2.¥2
3.% 3
4. % 4



Question Number : 127 Question Id : 39226622887 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The period of revolution of a planet depends on
L. Size of the planet
2. Number of satellites it contains
3 Weight of the planet
4. Distance of the planet from the sun
{r0 S0k, $OEDe 500 B ednem
. (K5 905080
<. 5802 Mo &diste K;togpé
3. e 2280
4. XrEE $o0& KSR Ne Erio
Options :
1. % 1
2. %2

3.%¥3
4.4 4



Question Number : 128 Question Id : 39226622888 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Nanotubes were discovered by

I Albert Eimnstein

2. Richard Feynman
3, Andre Geim

4, Sumio lijima

TS ﬁmﬁ”p‘amﬁs

1. &9&25 3}%5

2. 83§ oS
3. esolé Ao
4.  PoW&Br O
Options :
1. %1
2. %2
3.% 3
4. v 4
Sub-Section Number : 2
Sub-Section Id : 392266822

Question Shuffling Allowed : Yes



Question Number : 129 Question Id : 39226622889 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct sequence of concept formation
1. Sensation — perception — stimulus — concept formation

2. Perception — stimulus — sensation — concept formation

(S

Sensation — stimulus — perception — concept formation
4, Stimulus — sensation — perception - concept formation
PSS e TV V020D BJF SV (EI7J)
ook,

L HOSES - (DEGKO - &OBS - T )EEo

2. (DEGEO - SLDS - HOSISN - aPHS )0
s, et AN TV g V- DU wene -

3. HOSES egﬂm (BEFKO - 27T )EEo
4. &ODS - HOIES - (PSGKO - FIS JYEE0

Options :

1. % 1

2. %2

3. %3

4.4 4



Question Number : 130 Question Id : 39226622890 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One has to understand the philosophical background of
textbook before developing this plan

1. Lesson plan
2. Year plan
3. Period plan
4, Unit plan
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“What we have learnt” part in the lesson helps us to
1. Gather additional information

2. Make models

T4l

Recapitulation concepts

4. Conducts experiments
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Correct Marks : 0.5 Wrong Marks : 0

According to Bloom's Educational objectives. evaluation
comes under

1. Affective domain
z Cognitive domain

Emotional domain

(S

4, Psychomotor domain
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the correct sentence about deductive thinking

1. Long procedure

2. It’s like making a tool

LS |

Initial stage of teaching learning
4. Requires memory
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Sensory organs are gateways of knowledge.” is stated by

1. John Cominius

2. Maria Montessori
54 Jean Piaget

4. Nicolus
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A teacher allotted 32 marks for conceptual understanding in a
80 marks question paper. The weightage of this academic
standard 1s
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student said. “Pollution increases when debris 1s burnt™. The
process skill acquired by him 1s

1. Hypothesis

2. Cause and effect
3. Result analysis
4. Giving examples
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Himalayas between Teesta and Dihang rivers are known as
L. Punjab Himalayas

2. Assam Himalavas

frd

Kumaon Himalayas

4. Nepal Himalayas

82 500650 BN e s &) PrEredirom

[ ©0ED.
1. K02 SSIreOCsTeD
2 &9%‘30 PSTOaITe)

3. Ky dre SrSrediTen

4. IS rsrediTen

Options :
1. %1
2.¥ 2
3.%83
4. % 4
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Geocentric Theory’ was proposed by

i Copernicus

2. Galileo

3. Ptolemy

4. Immanuel Kant
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Correct Marks : 0.5 Wrong Marks : 0

The percentage of water that is fit for human use out of the total
fresh water available 1s
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In this year Asian and African countries leaders first met at
Bandung. Indonesia
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Question Number : 141 Question Id : 39226622901 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This national leader stated that “the goal of national education
is to awake the spirit of nationality among the students’.

Bl Sr1 Aurobindo Ghosh

2. Mahatma Gandhi

3. Rabindranath Tagore

4, Sarvepalli Radhakrishnan
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Question Number : 142 Question Id : 39226622902 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The book written by Krishna Deva Raya
1. Amuktamalyada
2. Gatha Saptasati
5 Manucharitam

4. Harikathasaramm
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Question Number : 143 Question Id : 39226622903 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The tools that were found in Muchatla Chintamanu. Gavi
caves in Kurmool district were made of

1. Iron

2. Animal bones
X, Bronze

4, Wood
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Question Number : 144 Question Id : 39226622904 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Find out the correct statements from the following.

A.  In the Parliamentary system. the Executive body is not
formed from the Legislature.

B. In the Presidential system. the Executive body i1s not
formed from the Legislature.

4 In the Parliamentary system. the Executive body is
responsible to the Legislature.

D.  In the Presidential system. the Executive body is not
responsible to the Legislature.
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Question Number : 145 Question Id : 39226622905 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This Fundamental Right prohibits human trafficking
1. Right to Constitutional Remedies
2. Right to Freedom
3. Right against Exploitation
4. Cultural and Educational Rights
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the name that is not related to river Brahmaputra
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This article of Indian Constitution provides equality of
opportunities in matters of public employment

i Article 16
2. Article 18
3. Article 15

4. Article 14
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Question Number : 148 Question Id : 39226622908 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The crop that needs high temperature. high humidity and high
rainfall 1s

I Wheat
2. Millets
3 Maize
4. Paddy
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

They named seasonal reversal of winds as ‘monsoon’
1. Greek Scientist
2. Arab Traders

Persian Sailors
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4. Latin American Traders
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The symbol placed in the centre of a tricolour flag that was
adopted by the Indian National Congress in 1931 13

| & Ashoka Chakra
2. The Charkha
3. Bharatamata

4. Lotus
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Question Number : 151 Question Id : 39226622911 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This fort 1s considered as the ‘Gate way to Dakshina Kasi’
1. Ratnagiri
2! Penukonda

3. Siddhavatam
4. Chandragiri
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Work for the good of others’. this sentence is related to one of
the following Ashtanga margas.

1. Right intentions

2. Right action

2 Right effort

4. Right mindfulness
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The characteristic/s of a good question is/are, it

A, Should be in simple language.

B Should be appropriate to the level of the students.
E; Should be achieved desired objective
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Question Number : 154 Question Id : 39226622914 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose correct answer regarding psychomotor domain

a. This domain contains manipulative skills.

e

R. H. Dave classify it into 5 divisions.

Naturalization is higher stage.

= 0

This domain gives priority to characterization.
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The father of History was

1. Aristotle
2. Socrates
3. Herodotus
4. Plato

el FO AN b L LT

i 3PS
[ ]
2. FEES
3. &S
4. e
Lo
Options :
1. % 1
2. %2
3.3

4. % 4
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These proposals were taken into consideration to design Social
studies textbooks.
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Question Number : 157 Question Id : 39226622917 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This 1s NOT the reason for the success of Indian Democracy

1. Constitution designed by collecting from different
countries.

b

Political consciousness of voters

People’s freedom and liberties

Lol

4, Awareness among oppressed communities
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Question Number : 158 Question Id : 39226622918 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to this provision of the Indian Constitution, Hindi
in Devanagari script is recognized as the official language
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This committee recommended to bring revolutionary changes
in the teaching of Civics

1. Yashpal committee

2. Kothari Commission

3. NEP - 1986

4, Ishwarbhai Patel committee
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Correct Marks : 0.5 Wrong Marks : 0
Choose the correct answer

a. Environment education shall be taught for 1. 2 classes
through Teacher Handbooks — Eswari Bhai Patel

b. Environment education shall be taught based on student
abilities — R. H. Dave

Social Science is the miniature form of Sociology for
the purpose of teaching — Wesley & Ranskey
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